20255 FMRTI1-)

1B 5 65 Iz 85 95 1085 il 125 15 25 35
& A - " - s SRR
] A 2024$f§1§ﬁﬁﬁ%§2\5§5 1 7k 1 E %Epu%ﬁ 1 A 1 ﬁ *ﬁn%E 1 H %mnﬁﬁ 1 7J< E{'%ETIE’V‘IHO/'] (3@) 1 j: 1 1 7|< g§{$¥ 1 E ] E
BRI O . O v |BIETE ‘
2k [ERERECNOL 2% 2 2|7k o+ [A—Tvxvunzenme | 2li e 2| 2|8 2| [0 2% |2 =tk 2|B 2|8
K (i T | 3|t |E 3|k 3 3B [A—Fvrvuzetmc | 3k SRR 3& 3|8 A 3|7k 3|t |2t 3|k 3|
)& HuTor—vave | 4B |kse 4|k 4% 4|8 APERSE )|+ (RS SEEEER | gy, 4| AEREE e 4|7k 4|k
5+ 5(8 |#R&ER 5K 5| |A—=TF 2 F+ /S ReERAC 5K 5l |EHER 5(8 |EHEE 57k 5| 5A 5K 5|K
6|8 6|k |kl 6% 6|8 |A—FvxritzetmEC | 6k 6|+ 6|8 6|k 6|+ |sErhamn 6|k 6% 6%
18 l#uTys—vave | 7k 7|+ 718 7|4 il= 7|k 7% 718 |Ems 7|7k 7|+ |REBEAR(IE) (AR esREC| 7|+
8l [FUTYF—vave | 8lk 8|8 8|k 8% |srpmesT 8|7 | ok BI04 GO gl e (apemcrES) 8|8 8|4 8|3 =
ok |AUToF—vave | 9g 9|8 9|7k o|+ (g R (T ) 9|k |gerhzEss 9| JE 9|k 9% 9|8 |wpmseT 9|8
LS IESES:E == 10|k 10/ 10|8 10{ |serhsEss 10/% 10|18 10/ 10|+ 10{k 10|
1% 1|\ | 1| |@#EE 1|& 1|8 MENET:E= 1|+ 1|k 1A 1|8 1]k 1|
12| 128 12| |BIEETE 12|+ 12|% 12| |EEn 2|8 12k 12l& 2|8 |hEE 12k 12| [ B0k ($RR) GARER-
6/18 (20) SthEAC
138 13|k 13|% 13|18 13|k 13|+ 13| |Een 13|k 13|+ 13|k 13|% 13|%
AUHAIS SRR W
148 [BEAEERE 0 |14 14/ 14/ 144 148 14|k 14| 148 14]7 14/ 14|+
15|k 15| 15|18 15|k 15/% 15|18 15| 15+ 158 15| 158 158
16|k 16|% 168 6|7k 16|+ 16|k 164 16|18 16|k 16| |thsEE 16| 8 16|8
174 17+ 17| 174 1|8 175k 17% 178 175k 11|t reasstar 2 ropme |17k (PSR IPRETE-EES
HWEELER - 3SEXRAE (B _
18|% 18|18 18| 18| 183 18| 18+ [ omemc 18|k 18|k 18|8 |KkAzstET 2 remEC | 18|k 18Kk
BHEES IR A SR@EC
19|+ E 194 19|+ 19|k 19|% 19|89 19|k 19|% 19/ 19| 19|14
[= 20|k 20|& 20|89 20K 20|+ 20|18 20| 20|+ 20| 20|& 204
21| [EERE 425 (0BT g1 21|+ 21|18 | 21| |sEehs 2118 21|k 21|& 2118 21| 21|+ 21|+
22|k 22|k 2|8 22|k 2|2 (e 2|p |HEREAER 22| 20|+ [FHHmLES SAEE- SERR 9| g 22|k 2|8 2|8
23|k 23|% 23|18 23|k 23|+ 23|k |¢heEE 23| 23| 23|k 23|% 23|18 23|18
24| 24|+ |BlazEERE 24| 24| 24|15 247k 24|& 24|B |th#E 247k 24|+ | BB s 2 e 24|k 24|
25|& 25|88 25|k 25|& 25|F |ehiEs 25| 25|+ 25|k 25| 2518 |, B s 2 s 25|k | MRtk (ATHA) OSREHSHEC | 25|k
= W |BIHARGE AFE (9B % =
26|+ |serhags 26|18 26| & 26| 26|k (B R e | 26| 26|E8 26|k [wEEE 26|% 26|18 26| 26| &
21|8 | 27|k 21|% 27|85 27|k |gerhss 1|+ [FSFEESE I Al 21|k [wsEE 27|+ =tk 21|k |weEE 27|% 27|%
28|18 28| 28|+ 288 28|k |sErhsas 28| 28|k 28|% 28|81 |& Btk 28|k [esEE 28|+ 28|+
20|k [msE 29|k 2E 29| 29| |sEehs 29|58 20|k 20|+ |seehass 9|8 |23t 29k |E s A () € 29|
v |2EE R o X
30|k 30|% 30|18 30|k 30|+ 30| K [T5E AT 30| | [EHESE 30|k |&Fhe 30|& 30|8
SIEIEEE = 31|k (e 31|8 31| (e 31|k |&Bthe 31|+ 31|




